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· What is the independent variable and why?  

The number of bicycles is the independent variable because you can have multiple values for the number of bicycles. 

· What is the dependent variable and why?

The cost is the dependent variable since the cost depends upon the number of bicycles. You have to know how many bicycles are used in order to determine the cost.

· What type of a relationship does the graph indicate that exists between the number of bikes rented and the cost of the business?

The relationship is linear between the bikes and cost of business.
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1. Is the relationship the same as the original problem? Yes, still linear
2. What symbolic equation represents the relationship in the chart? C = 90+10n
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1. Is the relationship the same as the original problem? Yes, still linear
2. What symbolic equation represents the relationship in the chart? C = 175+10n
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1. Is the relationship the same as the original problem? Yes, still linear
2. What symbolic equation represents the relationship in the chart? C = 90+18n
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1. Is the relationship the same as the original problem? Yes, still linear
2. What symbolic equation represents the relationship in the chart? C = 175+8.50n
